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            TIME: 2 HOURS
INSTRUCTIONS:   
ANSWER QUESTION ONE AND ANY OTHER TWO QUESTIONS 
Question One (30 Marks)
a)
Distinguish between:







(4 Marks)

(i) Discrete variables and continuous variables

(ii) Primary data and secondary data

b)
Use the following distribution:


3, 6, 9, 10, 7, 12, 13, 15, 6, 5, 13


To compute:

(i) Mean 








(2 Marks)

(ii) Variance 







(3 Marks)

(iii) Standard deviation






(2 Marks) 


c)
Three different machines in a factory have the following probabilities of breaking down during a shift:

	Machine
	A
	B
	C

	Probability
	4/15
	3/10
	2/10


Find the probability that in a particular shift al the machines will break down.










(2 Marks)

d)
Compute the indexes of the following data taking year 1 as the base year:
(8 Marks)

	Year
	1
	2
	3
	4

	Value
	12380
	12490
	12730
	13145


e)
Highlight the four (4) components of time series.



(4 Marks)
f)
Discuss decision making under perfect information.



(5 Marks)

Question Two (20 Marks)

The heights in centimeters of tree seedlings are shown in the frequency distribution table below:

	Height (cm)
	10 � 19
	20 � 29
	30 � 39 
	40 � 49
	50 � 59 
	60 � 69 

	No. of seedlings
	9
	16
	19
	20
	20
	10



a)
Identify the model frequency.






(2 Marks)

b)
Estimate the mean height.






(4 Marks)

c)
Calculate the standard deviation of the distribution hence interpret it.
(12 Marks)

d)
State two (2) shortcomings of the mean as a representative of the given distribution.









(2 Marks) 
Question Three (20 Marks)

a)
State any three (3) uses of index numbers.




(3 Marks)
b)
Define the following terms as used in decision theory:


(3 Marks)

(i) Acts 

(ii) States of nature of events 

(iii) Pay off 

c)
Compute Laspeyre�s price index, paasches price index and fishers index using the data below w.r.t 2004 as base year:





(14 Marks)
	2004
	2005

	Commodity
	Price
	Quantity
	Price 
	Quantity

	A
	2
	5
	3
	4

	B
	1
	2
	2
	3

	C
	3
	1
	4
	1


 Question Four (20 Marks)

a)
Distinguish between kurtosis and skewness.




(2 Marks)

b)
By use of diagrams, discuss the three (3) shapes of a distribution in terms of peakedness.








(6 Marks)

c)
The following figures relate to the size of capital of 285 companies.  Use it to compute the coefficient of skewness and interpret the results:



(12 Marks)

	Capital
	1 � 5
	6 � 10
	11 � 15
	16 � 20
	21 � 25
	26 � 30
	31 � 35 

	No. of Co
	20
	27
	29
	38
	48
	53
	70


Question Five (20 Marks)

a)
List any five (5) types of probability sampling plans.


(5 Marks)

b)
Scores made by students in a statistics class in the mid � term and final examination are given below.  Develop a regression equation which may be used to predict final examination scores from the mid � term score:



(15 Marks)

	Student
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Mid � term 
	98
	66
	100
	96
	88
	45
	76
	60
	74
	82

	Final
	90
	74
	98
	88
	80
	62
	78
	74
	86
	80
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